EARAZROREIERT — 2 N—XBISY —F 20135128218 (£) 5@EIBR#7H

m"fﬁ%Zﬁ HE [Tl B ‘ x4zl /J\Eﬁ‘ (EsEl - | 4 (&) 12000 B
[~®4] 1 % :7,000,000 @ ~ 23 :2,800,000 ™ ~ 33#:1,800,000 ™ ~ 4 3#:1,100,000 5 #& :700,000 [
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
11710l 21 ¥aw7ar #Ho2 snfg% 1:(1_1).8 32 |3.5|835| 3 (436) gg‘;&ﬁ}i)

R:814%Yv bV BEY R RIS
olsle|55= B2 ?4.()1»%—1» 1:12.3 1-1 37.4| 789 | 2 | 478 ,Jm\g; (&R)

- . 3 _
LHIINIoF— BN—=Tx T hNTI— @ =) Fy P EFXT 7 — L
S N B : - AT

3 o | BH /AT IV~ # o2 gﬁsﬁ%*f@ (12.112/.27> 34 |37.4|75.0 | 5 <4Eo) iﬂ\zigﬂ (ER)

RHYIRG 4TI BAHSAH HREMFREH /77— L
4 4| DFRIVEN=F 2 Eﬁ_ﬂgﬂﬁ 1(:31/%4.)8 55 |37.3| 74.1 | 6 :ig) ;Efjg (ER)

X LTHANAN Bih—Lys— K W
51812 FF— I — 42 %ﬁ%t 1(:11/22.>9 2-2 37.7| 73.4 | 1 (452) igﬁ(ﬁ}{)

R:d—ILR7Ya—b Bz Fqa>INY— YA TG

- - . &5 . H =t

6l1lq|FF2551x it 2 él_%of (13.113/.25) 6-6 37.7|67.8| 9 (430) (E) _%%il%

RV YETyR BNTTAH— e
7Rl 3| 771 # o2 | JhiE— 1:(1;5).0 1-10 | 37.5| 541 | 7 | 428 %ﬂ%f*)

RV ARYIURIR BILHL R F— | T
algli|o—Lrs52y o2 fs_fo (12115/24) 7-8 39.2| 52.8 | 10 | 450 Hl(;'r;)%ﬁ_(%f)\/_://j

QT —FAFAF-XH BiTO-% | s

3 x2 o2 | MREE 1:15.7 9-9 38.6 | 49.2 | 12 468 | fEEBZ (FX)
EH7 F—-—3IF%F"7 55.0 @) BIBEE

R:TF—FAFAF =Y BvAKU—<— 1145
S o > 4 2 | UEMER 1:16.1 7-7 40.1| 48.4 | 4 470 | AER— (FR)
1of7|9 | E¥T/I%¥ 54.0 2172 o | PR
R:N—Y9I54 B:e>¥gI0 it FEER
. — MEAZ— 7. - . . wEEEE (ER)
11155 HoLrLII—-—=7 o2 54.0% ! (197)5 10 03315 8 (41_2) KFRER
R:VZRAB—IZR&— BIIPILCXXAH R RS S

:707% B:I1-X4CX BH EX

S i 2 | AEEN 1:18.0 12-12 [ 39.8| 32.1 | 11 458 | HEHBR (FR)
EHB 201 % i 54.0 3) %EP%

® 21L

2] 48.7-36.9

NEAZ24 L | 12.2-10.9-11.8-11.6-12.2-13.1

@ 11— —@EBIRfL

| 2=7r=

230—F—

3a—F— | 6-12(2,10)4-1-(11,9)-(5,7)-3-8

40—7— 6(12,10)2,4-1,9-11=7-(5,3)-8

® LR=

L 10 490 | | 71 K 6-10 430 #e E 5-7 570M 3R 2-6-10 2,840H

BB 10 180H 2-10 740H 5 & 6-10 990M JEE 10-6-2 13,570
6 160/ 2-6 590 B B 10-6 2,030M
2 2501

ABICOVWTRDTEEERROODE. TR LIV,



